
  

Semilog Graph

Imagine that we have the following data set:

t y(t)

0 1

1 2

2 5

3 6

4 1000

5 2000

6 3000

The variable y(t) spreads over a wide range of values. It will be difficult to 
visualize. We will use semilog graph to solve this problem. 



  We do not see what happens at t = 0, 1, 2, 3. Apparently the value is 0. 



  

If we represent the y axis in a logarithmic scale we can see what happens at t = 0, 1, 2, 3. 
We just transform the axis, not the function y(t).



  

Alternatively, we can plot log(y(t)) instead of y(t)... 
(but then we will have to undo this change to know the real value y(t)...)





 
analyzing blood stains 
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